
 

Nachbarzahlen 5 
 
 
1. Trage die Nachbarzahlen ein. 
 
Nachbartausender 
 

 
Nachbarzehntausender 
 

Vorgänger 330 000     

Zahl 334 302 522 456 984 439 303 346 460 439 

Nachfolger      
 
Nachbarhunderttausender 
 

Vorgänger 300 000     

Zahl 349 459 133 345 73 257 456 069 952 394 

Nachfolger      
 
 
2. Rechne mit verwandten Aufgaben. 
 

300 +        400 = ___________ 190 +        490 = ___________ 

3 000 +     4 000 = ___________ 1 900 +     4 900 = ___________ 

30 000 +   40 000 = ___________ 19 000 +   49 000 = ___________ 

300 000 + 400 000 = ___________ 190 000 + 490 000 = ___________ 
 
 

557 +        440 = ___________ 128 +        230 = ___________ 

5 570 +     4 400 = ___________ 1 280 +     2 300 = ___________ 

55 700 +   44 000 = ___________ 12 800 +   23 000 = ___________ 

557 000 + 440 000 = ___________ 128 000 + 230 000 = ___________ 
 

Vorgänger 553 000     

Zahl 553 154 129 772 244 357 250 965 736 353 

Nachfolger      


